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Find the integral directly or decide which mte ration technrque would be appropriate. @
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Integration results or techniques. e
) A Injx+1] + k C. arcsin(x) + k D. arctan(x) + k E. —cot(x) + k e
E. partial fractions G. partial fractions H. rewrite as I. integration by paris
A B A B 2x . 1 =X dv = edx
x—1 7 X+1 x—1 7% (x=1) XF 41" xE 1 g
J. integration by parts | K. integration by parts | L. integration by parts N. substitution:
U=X dv=In(x)dx | u=In(x) dv=dx |u=e* dv= cos(x)dx U= x2
Q. substitution: R. substitution: T. substitution: T. substitution:
U=x24+1 U=x2—1 u=1-x2 u=1/x
U. substitution: Y. divide by: E. divide by: H. substitution:
u = tan{x) X —1 X U = sin(x)
K. substitution: N. substitute: T. substitution: W. no technigue
U = cos(x) sin2(x) = 17.695(2x) lu=x+1, and u—1 = x works
2 then divide by u
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